MET&Q—OE/ - Cﬂnﬁo’\/f I“,&Q_B rov., ‘;20!?_
522 /U'f'{'onmfre.

(Yuestron L
Q AA _—_—/ﬂo/oa == £OO Agnwf
(7). D hg = 4D Wodno= 4un 57 ~ ?OJ/M
ﬁ/) A;\ XA. AI\A— + Xe /—U\E’;

— /200 =0.4 Lha +0.6470)
Ahy =701 //,,.,/

&Y estond N o= Al70) =160

/745‘__»1'- ?0
/n)'fa\l‘" - SO
My= = FO+80-2(10) =(70

X/va Ko Cg/jfi’a) ( ‘Zia) = o775

Q vesTron g C
fehlo/ oy

A b
7 = XaX E‘[ A+ A+er b, +((}(§an)>26']

# Xo X [yt ba (12X
+Xe X [ﬂs +bs Xa]




Keestion 4
() g =O(ﬂ‘){)( Z:X *XﬁXyg ;)’ “L')Q)QZ T?X + X Xy ?/:yj
tRT(XA Nt Ko Ao +550 AN + XA XD

Xp=04 Xx =07
6 =06 X)f =0.6

? 1[(0./4)[400) #0. 34(*55) + o027 ("'/W) #0.2/ (“/Sa)J x0’
RT( atdoy +o.chot)

! XA
= apo0 #2(535) row) (P
= =105 (7%
0.9 AX + 0.6 BY = /0 (@)
A G =-ro5172 -0 Vi;), -0¢g e

:.../05/?; - yé@aw) —0'56'50,0?%)
= = 55/F2/L.




CPU-?‘S‘[} O N 5

[P

(NaF),

(996°) 0.1 02 0.3 0.4 05

0.9

CaF,

5

0.9

Equivalent fraction F/(CI+F)

(1376°)

60

80

<P
( Na CI ) 2 0.1 0.2 03 0.4 05 06 Eo7 0.8 0.9 Ca CI 2
(801°) Equivalent fraction 2Ca/(Na+2Ca) (772°)
T
r (i) i
(it) 1 (/./(NaF)a Gla
l
Vi P+ 2
BE; +Ne &
W G FA
Nalk G




